
 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 1  

Time : 25 min. 
Total Marks : 48 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 8 
Multiple choice Objective ('–1' negative marking) Q. 9 to Q.  12 

 

Q 1) Value of tan225° is :  
 A) √𝟑  B) 𝟏

√𝟑
   

 C) 𝟏  D) −𝟏   
Q 2) sin 300° is equal to  
 A) 1/2 B) – 𝟏/𝟐   
 C) −

√𝟑

𝟐
  D) √𝟑

𝟐
   

Q 3) If 𝒔𝒊𝒏 𝜽 =
𝟏

𝟑
 , then 𝐜𝐨𝐬 𝜽 will be-  

 A) ±
𝟖

𝟗
  B) ±

𝟒

𝟑
   

 C) ±
𝟐√𝟐

𝟑
  D) ±

𝟑

𝟒
   

Q 4) Values of sin 15°.cos 15° is :  
 A) 1 B) 1/2  
 C) 1/4 D) √𝟑

𝟐
   

Q 5) Value of sin (37°) cos (53°) is -  
 A) 𝟏𝟐

𝟐𝟓
  B) 𝟗

𝟐𝟓
   

 C) 𝟏𝟔

𝟐𝟓
  D) 𝟒

𝟓
   

Q 6) If sin θ=
𝟑

𝟓
 and cos θ<0, then find tan θ -  

 A) 𝟑

𝟓
  B) −

𝟑

𝟒
   

 C) 𝟒

𝟑
  D) −

𝟒

𝟑
   

Q 7) Sin 2θ =  
 A) 2sin θ cos θ B) 2sin θ  
 C) 2cos θ D) 𝐬𝐢𝐧 𝛉 𝐜𝐨𝐬 𝛉

𝟐
   

Q 8) The length of the arc AB, shown in the figure (R=7 cm, θ=90°, π=22/7  
 

                                          

 

 A) 11 cm B) 22 cm  
 C) 650 cm D) None of these  
Q 9) Which of the following is/are correct trigonometric identity:  
 A) 𝟏 + 𝒕𝒂𝒏𝟐𝜽 = 𝒔𝒆𝒄𝟐𝜽  B) 𝟏 − 𝒄𝒐𝒕𝟐𝜽 = 𝒄𝒐𝒔𝒆𝒄𝟐𝜽   
 C) 𝒔𝒊𝒏𝟐𝜽 + 𝒄𝒐𝒔𝟐𝜽 = 𝟏  D) 𝒔𝒊𝒏𝜽𝒔𝒆𝒄𝜽 = 𝒕𝒂𝒏𝜽   
Q 10) Which of the following has value 1?  
 A) 𝐭𝐚𝐧 𝟒𝟓°  B) 𝐬𝐢𝐧 𝟗𝟎°   
 C) 𝐜𝐨𝐬 𝟗𝟎°  D) 𝐜𝐨𝐬 𝟎°   
Q 11) Which of the following has value zero?  
 A) 𝐬𝐢𝐧 𝟎°  B) 𝐭𝐚𝐧 𝟎°   
 C) 𝐜𝐨𝐬 𝟎°  D) 𝐬𝐞𝐜 𝟎°   
Q 12) Convert the following angles into radian :-  
 (i) 𝟑𝟎° (ii) 𝟒𝟓° (iii) 𝟔𝟎° (iv) 𝟗𝟎° (v) 𝟏𝟐𝟎° (vi) 𝟏𝟑𝟓° (vii) 𝟏𝟓𝟎° (viii) 𝟏𝟖𝟎° (ix) 𝟐𝟕𝟎°  

 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 2  

Time : 30 min. 
Total Marks : 52 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 10 
Multiple choice Objective ('–1' negative marking) Q. 11 to Q.  13 

 

Q 1) cos(A+B)=  
 A) cosAcosB - sinAsinB B) cosAcosB + sinAsinB   
 C) sinAsinB +cosAcosB D) None of these   
Q 2) cos(A-B)=  
 A) cosAcosB - sinAsinB B) cosAcosB + sinAsinB   
 C) sinAsinB +cosAcosB D) None of these   
Q 3) sin(A+B)=  
 A) sinAcosB + cosA sinB B) sinAcosB - cosA sinB  
 C) cosAsinB - sinAcosB D) None of these   
Q 4) sin(A-B)=  
 A) sinAcosB + cosA sinB B) sinAcosB - cosA sinB  
 C) cosAsinB - sinAcosB D) None of these   
Q 5) sinA + sinB =  
 A) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)  B) 𝟐𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
)   

 C) −𝟐𝒔𝒊𝒏 (
𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)  D) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
)   

Q 6) sinA - sinB =  
 A) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)  B) 𝟐𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
)   

 C) −𝟐𝒔𝒊𝒏 (
𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)  D) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
)   

Q 7) cosA + cosB =  
 A) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
)  B) 𝟐𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)   

 C) −𝟐𝒔𝒊𝒏 (
𝑨+𝑩

𝟐
) 𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
)  D) −𝟐𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)   

Q 8) cosA - cosB =  
 A) 𝟐𝒔𝒊𝒏 (

𝑨+𝑩

𝟐
) 𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
)  B) 𝟐𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)   

 C) −𝟐𝒔𝒊𝒏 (
𝑨+𝑩

𝟐
) 𝒔𝒊𝒏 (

𝑨−𝑩

𝟐
)  D) −𝟐𝒄𝒐𝒔 (

𝑨+𝑩

𝟐
) 𝒄𝒐𝒔 (

𝑨−𝑩

𝟐
)   

Q 9) The value of sin(15°) is  
 A) √𝟑+𝟏

𝟐√𝟐
  B) √𝟑−𝟏

𝟐√𝟐
   

 C) √𝟑

𝟐√𝟐
  D) 𝟏

𝟐√𝟐
   

Q 10) The value of sin(75°) is  
 A) √𝟑+𝟏

𝟐√𝟐
  B) √𝟑−𝟏

𝟐√𝟐
   

 C) √𝟑

𝟐√𝟐
  D) 𝟏

𝟐√𝟐
   

Q 11) 𝒔𝒊𝒏𝟐𝜽 =   
 A) 𝟏+𝒄𝒐𝒔𝟐𝜽

𝟐
  B) 𝟏−𝒄𝒐𝒔𝟐𝜽

𝟐
   

 C) 𝟏 − 𝒄𝒐𝒔𝟐𝜽   D) 𝒔𝒊𝒏(𝟐𝜽)   
Q 12) 𝒄𝒐𝒔𝟐𝜽 =   
 A) 𝟐𝒄𝒐𝒔𝟐𝜽 − 𝟏   B) 𝟏 − 𝟐𝒔𝒊𝒏𝟐𝜽    
 C) 𝒄𝒐𝒔𝟐𝜽 − 𝒔𝒊𝒏𝟐𝜽  D) 𝒄𝒐𝒔𝟐𝜽 + 𝒔𝒊𝒏𝟐𝜽   
Q 13) 𝒄𝒐𝒔𝟐𝜽 =   
 A) 𝟏+𝒄𝒐𝒔𝟐𝜽

𝟐
  B) 𝟏−𝒄𝒐𝒔𝟐𝜽

𝟐
   

 C) 𝟏 − 𝒔𝒊𝒏𝟐𝜽   D) 𝒄𝒐𝒔(𝟐𝜽)   
 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 3  

Time : 30 min. 
Total Marks : 50 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 7 
Multiple choice Objective ('–1' negative marking) Q. 8 & 9 
Subjective Questions ('–1' negative marking) Q. 10 & 11 
Match the following (no negative marking) Q. 12 

 

Q 1) sin 210° is equal to  
 A) 1/2 B) -1/2   
 C) −

√𝟑

𝟐
  D) √𝟑

𝟐
    

Q 2) sin (90° + θ) is -  
 A) 𝒔𝒊𝒏𝜽  B) 𝒄𝒐𝒔𝜽   
 C) −𝒄𝒐𝒔𝜽  D) −𝒔𝒊𝒏𝜽   
Q 3) 𝒔𝒆𝒄(𝝅 + 𝜽)   
 A) 𝒄𝒐𝒔𝜽  B) 𝒕𝒂𝒏𝜽   
 C) 𝒔𝒆𝒄𝜽  D) −𝒔𝒆𝒄𝜽   
Q 4) If A = 600 then value of sin 2A will be  

 A) √𝟑

𝟐
  B) 𝟏

𝟐
   

 C) 𝟏

√𝟑
  D) 𝟏

√𝟐
   

Q 5) sin (750°) =  
 A) 𝟏

𝟐
  B) −

𝟏

𝟒
   

 C) 𝟎  D) √𝟑

𝟐
   

Q 6) Value of sin 225° is :  
 A) 𝟏

√𝟐
  B) −

𝟏

√𝟐
   

 C) 𝟏  D) −𝟏   
Q 7) 𝒄𝒐𝒔 (

𝟏𝟏𝝅

𝟔
) =   

 A) 𝟏

𝟐
  B) −

√𝟑

𝟐
   

 C) 𝟎  D) √𝟑

𝟐
   

Q 8) If θ=120°,then:  
 A) 𝒔𝒊𝒏𝜽 =

√𝟑

𝟐
  B) 𝒄𝒐𝒔𝜽 =

𝟏

𝟐
    

 C) 𝒄𝒐𝒕𝜽 =
𝟏

𝟐
   D) 𝒕𝒂𝒏𝜽 = √𝟑    

Q 9) Which of the following have value equal to 1 ?  
 A) tan 2250 B) - cos π C) 𝒔𝒊𝒏 (

𝟓𝝅

𝟒
)  D) tan(4050)   

Q 10) Find the values of  
 A) 𝐜𝐨𝐬 (−𝟔𝟎°)  B) tan(2100) C) 𝐜𝐨𝐬 (𝟏𝟐𝟎°)  D) 𝐬𝐢𝐧 (−𝟏𝟒𝟖𝟓°)  
Q 11) The following angle lie in which quadrant -  
 (i) 𝝅

𝟑
  (ii) 𝟓𝝅

𝟑
  (iii) 𝟐𝝅

𝟕
  (iv) 𝟓𝝅

𝟔
  (v) 𝟕𝝅

𝟓
   

Q 12) Match the following columns :  
 a) cos 3070 i) 𝟑

𝟓
               

b) cot 37o ii) −
𝟑

𝟓
          

c) cos 1270 iii) 𝟒

𝟑
              

d) cos(-37o) iv) −
𝟒

𝟑
          

e) tan 307o v) 𝟒

𝟓
              

 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 4  

Time : 30 min. 
Total Marks : 48 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 11 
Subjective Questions ('–1' negative marking) Q. 12 

 

Q 1) lf 𝒇(𝒙)  =  𝟑𝒙 +  𝟒𝒙𝟐  −  𝟐, then value of 𝒇(−𝟏) is  

 A) 𝟏  B) −𝟏   
 C) 𝟐  D) 𝟓    
Q 2) 𝒍𝒇 𝒇(𝒙)  =  𝒔𝒊𝒏𝟐𝒙 − 𝒄𝒐𝒔𝟐 𝒙 , Then find 𝒇(𝝅/𝟏𝟐)  

 A) √𝟑

𝟐
  B) −

√𝟑

𝟐
    

 C) 𝟏

𝟐
  D) −

𝟏

𝟐
   

Q 3) 
𝑰𝒇 𝒇(𝒙) =

𝟏

𝒙
+𝟏

𝟏

𝒙
−𝟏

, Find the value of  𝒇(𝒙)  +  𝒇(−𝒙) is 
 

 A) 2(1 + x2) B) 𝟐
(𝟏−𝒙𝟐)

(𝟏+𝒙𝟐)
   

 C) 𝟐
(𝟏+𝒙𝟐)

(𝟏−𝒙𝟐)
  D) (𝟏+𝒙𝟐)

(𝟏−𝒙𝟐)
   

Q 4) 𝒇(𝒙)  =  𝒕𝒂𝒏 𝒙 then the vatue 𝒇 (
𝝅

𝟒
)  

 A) 𝟐  B) 𝟑   
 C) 𝟏  D) None of these   
Q 5) 𝒍𝒇 𝒈(𝒙)  =  𝒆𝟐𝒙  + 𝒆𝒙 −  𝟏 𝒂𝒏𝒅 𝒉(𝒙)  =  𝟑𝒙𝟐  −  𝟏, 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒈(𝒉(𝟎)) 𝒊𝒔 ∶   
 A) 𝟏

𝒆𝟐 + 𝒆 − 𝟏  B) 𝟏

𝒆𝟐 +
𝟏

𝒆
− 𝟏     

 C) 𝒆𝟐 + 𝒆 − 𝟏  D) 𝟏

𝒆𝟐 +
𝟏

𝒆
    

Q 6) 𝐈𝐟 𝐟(𝐱)  =  𝐬𝐢𝐧𝟑𝐱 −  𝐜𝐨𝐬(𝟐𝐱), 𝐭𝐡𝐞𝐧 𝐭𝐡𝐞 𝐯𝐚𝐥𝐮𝐞 𝐨𝐟 (
𝝅

𝟐
) is -   

 A) 𝟐  B) 𝟎   
 C) −𝟐  D) 𝟏   
Q 7) 𝒍𝒇 𝒇(𝒙) =  𝒙𝟐 𝒂𝒏𝒅 𝒈(𝒙) =  𝒔𝒊𝒏(𝟐𝒙);  𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒈(𝒇(√𝒚 ))  =   

 A) 𝒔𝒊𝒏𝒚  B) 𝒔𝒊𝒏𝟐𝒚   
 C) 𝒔𝒊𝒏𝟐√𝒚  D) 𝒔𝒊𝒏𝟐(𝟐𝒚)    

Q 8) 𝒍𝒇 𝒇(𝒙) =  𝒔𝒊𝒏𝒙 + 𝒄𝒐𝒔𝒙, 𝒕𝒉𝒆𝒏  
𝒇(𝒙)+𝒇(−𝒙)

𝒇(𝒙)−𝒇(−𝒙)
  

 A) 𝒔𝒊𝒏𝒙 +𝒄𝒐𝒔𝒙

𝒔𝒊𝒏𝒙−𝒄𝒐𝒔𝒙
  B) 𝒄𝒐𝒕 𝒙  C) 𝒕𝒂𝒏 𝒙  D

) 

𝒔𝒊𝒏𝒙−𝒄𝒐𝒔𝒙

𝒔𝒊𝒏𝒙+𝒄𝒐𝒔𝒙
   

Q 9) 𝒍𝒇 𝒇(𝒙)  =  𝒙 +  𝟏 ;  𝒈(𝒛)  =  𝒛𝟐;  𝒉(𝒚)  = 𝟑𝒚, 𝑻𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒇(𝒉(𝒈(𝒂)) 𝒊𝒔 ∶    
 A) (𝟑𝒂 + 𝟏)𝟐   B) 𝟑𝒂𝟐 + 𝟏  C) 𝟑(𝒂𝟐 + 𝟏 )  D) 𝟑𝒂𝟐   

Q 10) 𝒍𝒇 𝒇(𝒙) =
𝒙𝟑−𝟏

𝒙𝟐+𝟏
, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒇((𝟏))𝒊𝒔   

 (i) 𝟐  (ii) −𝟐  (iii) 𝟏  (iv) −𝟏    
Q 11) 𝒍𝒇 𝒇(𝒙) =  𝟓𝒙 −  𝟓, 𝒈(𝒙)  =  𝒔𝒊𝒏𝟑 𝒙 +  𝟐𝒄𝒐𝒔𝟑𝒙  

𝑻𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒇(𝒈(𝒇(𝟏))) 𝒊𝒔  
 

 A) 𝟓  B) 𝟎  C) 𝟏𝟎  D) −𝟓   
Q 12) 𝑰𝒇 𝒇(𝒙) =

𝒙−𝟏

𝒙+𝟏
, Find the value of  

 A) 𝒇(𝟏)  B) 𝒇(𝟎)   
C) 𝒇(𝒇(𝟏))  D) 𝒇(𝟐)  

   
 

 

 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 5  

Time : 30 min. 
Total Marks : 56 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 11 
Subjective Questions ('–1' negative marking) Q. 12 to Q. 14 

 

Q 1) lf 𝒇(𝒙) =  
𝒙

(𝒙𝟐+𝒂𝟐)𝟑/𝟐  , where a is a constant. The value of 𝒇(
𝒂

√𝟐
) is  

 A) 𝟐𝟑/𝟐

𝟑𝒂𝟐   B) 𝟐𝒂𝟐

𝟑√𝟑
   

 C) 𝟐

𝟑√𝟑𝒂𝟐  D) 𝟑√𝟑

𝟐
𝒂𝟐    

Q 2) 𝒍𝒇 𝒇(𝒙)  =  (
𝒔𝒊𝒏 𝒙

𝟏−𝒄𝒐𝒔𝟐𝒙
) (𝒄𝒐𝒔𝒆𝒄 𝒙 + 𝒄𝒐𝒕 𝒙)(𝒄𝒐𝒔𝒆𝒄 𝒙 − 𝒄𝒐𝒕 𝒙), Then find 𝒇(𝝅/𝟐)  

 A) 𝟏  B) −𝟏    
 C) −𝟐  D) 𝑵𝒐𝒏𝒆 𝒐𝒇 𝒕𝒉𝒆𝒔𝒆   
Q 3) lf 𝒇(𝒙)  =  𝒙𝟑;  𝒈(𝒚)  =  𝒚 −  𝟏 ;  𝒉(𝒛)  = 𝒛 +  𝟏 

The value of 𝒇(𝒈(𝒉(𝒙))) is : 

 

 A)  𝒙𝟑 + 𝟏  B)  𝒙𝟑 − 𝟏   
 C) 𝒙 + 𝟏  D)  𝒙𝟑   
Q 4) 𝒊𝒇 𝒇(𝒙) =  𝒙𝟐 − 𝟏  and 𝒈(𝒙) =

𝟏

𝒙
+ 𝟏 ; the value of  𝒇 (

𝟏

𝒈(𝒙)
) is  

 A) (𝒙+𝟏)𝟐

𝟐𝒙+𝟏
  B) −𝟐𝒙−𝟏

(𝒙+𝟏)𝟐   

 C) 𝟏+𝟐𝒙

(𝒙+𝟏)𝟐  D) (𝒙+𝟏)𝟐

𝟏−𝟐𝒙
   

Q 5) If 𝒚 = 𝒙𝟑 + 𝟐𝒙𝟐 + 𝟕𝐱 + 𝟖 𝐭𝐡𝐞𝐧 
𝒅𝒚

𝒅𝒙
𝐰𝐢𝐥𝐥 𝐛𝐞 −   

 A) 𝟑𝒙𝟐 + 𝟐𝐱 + 𝟏𝟓  B) 𝟑𝒙𝟐 + 𝟒𝐱 + 𝟕   
 C) 𝒙𝟑 + 𝟐𝒙𝟐 + 𝟏𝟓   D) 𝒙𝟑 + 𝟒𝐱 + 𝟕     
Q 6) If 𝒚 =

𝟏

𝒙𝟒  then,  
𝒅𝒚

𝒅𝒙
 will be  

 A) 𝟒

𝒙𝟑  B) 𝟒𝒙    

 C) −
𝟒

𝒙𝟓  D) 𝟒

𝒙𝟓   

Q 7) If 𝒚 = 𝒙𝟐𝒔𝒊𝒏 𝒙, 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆  

 A) 𝒙𝟐𝒄𝒐𝒔 𝒙 + 𝟐𝒙 𝒔𝒊𝒏 𝒙  B) 𝟐𝒙 𝒔𝒊𝒏 𝒙   
 C) 𝒙𝟐𝒄𝒐𝒔 𝒙  D) 𝟐𝒙 𝒄𝒐𝒔 𝒙    
Q 8) 𝒍𝒇 𝒚 = 𝒆𝒙. 𝒄𝒐𝒕 𝒙 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) 𝒆𝒙. 𝒄𝒐𝒕 𝒙 − 𝒄𝒐𝒔𝒆𝒄𝟐𝒙   B) 𝒆𝒙. 𝒄𝒐𝒔𝒆𝒄𝟐𝒙    
 C) 𝒆𝒙[𝒄𝒐𝒕 𝒙 − 𝒄𝒐𝒔𝒆𝒄𝟐𝒙]   D) 𝒆𝒙𝒄𝒐𝒕 𝒙    

Q 9) 𝒍𝒇 𝒚 = 𝒙 𝒍𝒏 𝒙 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) 𝒍𝒏 𝒙 + 𝒙  B) 𝟏 + 𝒍𝒏 𝒙  C) 𝒍𝒏 𝒙  D) 𝟏   
Q 10) 𝒇(𝒙) = 𝒔𝒊𝒏𝟐𝒙 − 𝒄𝒐𝒔𝟐𝒙, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒇′ (

𝝅

𝟒
) 𝒊𝒔   

 (i) 𝟐  (ii) 𝟎  (iii) 𝟏  (iv) 𝒏𝒐𝒏𝒆 𝒐𝒇 𝒕𝒉𝒆𝒔𝒆     
Q 11) 𝒍𝒇 𝒚 =  𝒕𝒂𝒏 𝒙 𝒄𝒐𝒔𝟐𝒙, 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆 −   

 A) 𝟏 + 𝟐𝒔𝒊𝒏𝟐𝒙  B) 𝟏 − 𝟐𝒔𝒊𝒏𝟐𝒙  C) 𝟏  D) 𝟐𝒔𝒊𝒏𝟐𝒙   
Q 12) 𝒚 = 𝟒 + 𝟓𝒙 + 𝟕𝒙𝟑. Find 

𝒅𝒚

𝒅𝒙
  

Q 13) 𝒚 = 𝒙 + 𝒙𝟐 +
𝟏

𝒙
+

𝟏

𝒙𝟑 . Find 
𝒅𝒚

𝒅𝒙
  

Q 14) 𝒚 = 𝒙𝟐 +
𝟏

𝒙𝟐 . Find 
𝒅𝒚

𝒅𝒙
  

 

 

 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 6  

Time : 30 min. 
Total Marks : 56 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 11 
Subjective Questions ('–1' negative marking) Q. 12 to Q. 14 

 

Q 1) Double differentiation of displacement w. r. t. time is  
 A) 𝒂𝒄𝒄𝒆𝒍𝒆𝒓𝒂𝒕𝒊𝒐𝒏  B) 𝒗𝒆𝒍𝒐𝒄𝒊𝒕𝒚   
 C) 𝒇𝒐𝒓𝒄𝒆  D) 𝒏𝒐𝒏𝒆    
Q 2) Find value of𝒔𝒊𝒏𝟐𝟏𝟓𝟎  +  𝒔𝒊𝒏𝟐𝟔𝟒𝟓𝟎 :  

 A) 𝟏

𝟐
  B) 𝟏    

 C) 𝟏

√𝟑
  D) 𝑵𝒐𝒏𝒆 𝒐𝒇 𝒕𝒉𝒆𝒔𝒆   

Q 3) Slope of graph 𝒚 =  𝒕𝒂𝒏𝒙  drawn between 𝒚 and 𝒙, at 𝒙 =
𝝅

𝟒
 𝒊𝒔 ∶  

 A) 𝟎  B) 𝟏   
 C) 𝟐  D) 𝟏

√𝟐
   

Q 4) 𝐓𝐡𝐞 𝐯𝐚𝐥𝐮𝐞 𝐨𝐟 𝐟′(𝐱) 𝐚𝐭 𝐱 = 𝟏 𝐟𝐨𝐫𝐭𝐡𝐞 𝐟𝐮𝐧𝐜𝐭𝐢𝐨𝐧 𝐟(𝐱)  =  𝐱 𝐥𝐨𝐠𝒆 𝐱 𝐢𝐬   
 A) 𝒍𝒐𝒈𝒆𝟐  B) 𝟐   
 C) 𝟏  D) 𝟎   
Q 5) lf y = sinx, then 

𝒅𝟐𝒚

𝒅𝒙𝟐 will be :  

 A) 𝒄𝒐𝒔 𝒙  B) 𝒔𝒊𝒏 𝒙   
 C) −𝒔𝒊𝒏 𝒙   D) 𝒔𝒊𝒏 𝒙 + 𝑪     
Q 6) lf 𝒚 = 𝒙𝟑 𝒕𝒉𝒆𝒏 

𝒅𝟐𝒚

𝒅𝒙𝟐   𝒊𝒔 −  

 A) 𝟔𝒙𝟐  B) 𝟔𝒙    
 C) 𝟑𝒙𝟐  D) 𝟑𝒙    
Q 7) lf 𝒚 =  𝟐𝒔𝒊𝒏𝟐𝜽 +  𝒕𝒂𝒏 𝜽 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝜽
 𝒘𝒊𝒍𝒍 𝒃𝒆-  

 A) 𝟒 𝒔𝒊𝒏 𝜽 𝒄𝒐𝒔 𝜽 +  𝒔𝒆𝒄 𝜽 𝒕𝒂𝒏 𝜽  B)  𝟐𝒔𝒊𝒏 𝟐𝜽  +  𝒔𝒆𝒄𝟐 𝜽    
 C)  𝟒𝒔𝒊𝒏 𝜽 +  𝒔𝒆𝒄𝟐 𝜽  D)  𝟐𝒄𝒐𝒔𝟐 𝜽 + 𝒔𝒆𝒄𝟐 𝜽   
Q 8) Differentiation of 𝒔𝒊𝒏(𝒙𝟐  +  𝟑) w.r.t. 𝒙  

 A) 𝒄𝒐𝒔(𝒙𝟐  +  𝟑)  B) 𝟐𝒙𝒄𝒐𝒔(𝒙𝟐  +  𝟑)   
 C) (𝒙𝟐 + 𝟑)𝒄𝒐𝒔(𝒙𝟐  +  𝟑)  D) 𝟐𝒙𝒄𝒐𝒔(𝟐𝒙 +  𝟑)   

Q 9) lf 𝒚 = 𝒔𝒊𝒏 (𝒙) +  𝒍𝒏(𝒙𝟐)  + 𝒆𝟐𝒙  then 
𝒅𝒚

𝒅𝒙
 will be :  

 A) 
𝒄𝒐𝒔 𝒙 +

𝟐

𝒙
+ 𝒆𝟐𝒙 

B)  𝒄𝒐𝒔 𝒙 +
𝟐

𝒙
+ 𝟐𝒆𝟐𝒙 C) 

−𝒄𝒐𝒔 𝒙 +
𝟐

𝒙𝟐
+ 𝒆𝟐𝒙 

D) 
−𝒄𝒐𝒔 𝒙 −

𝟐

𝒙
+ 𝟐𝒆𝟐𝒙 

 

Q 10) lf 𝒇(𝒙)  =  𝒙𝟑 𝒍𝒏 (𝒙) 𝑻𝒉𝒆𝒏 𝒇 ′(𝒙) 𝒊𝒔 ∶  

 (i) 𝒙𝟐

+ 𝟑𝒙𝟐 𝒍𝒏 (𝒙) 

(ii) 𝒙𝟐(𝟏
+  𝒍𝒏 𝒙) 

(iii) 𝟒𝒙𝟐 (iv) None of these  

Q 11) lf 𝒚 =  𝒆𝒌𝒕 tnen  will be 
𝒅𝒚

𝒅𝒙
 will be  

 A) 𝒆𝒌𝒕  B) 𝒆𝒌𝒕/𝒌  C) 𝒕𝒆𝒌𝒕  D) 𝒌𝒆𝒌𝒕   
Q 12) 𝒚 =

𝟏

𝒙+𝟏
. Find 

𝒅𝒚

𝒅𝒙
  

Q 13) Differentiation of 𝒔𝒊𝒏(𝒙𝟐) w.r.t x is -  

Q 14) 𝒚 = (𝟐𝒙 + 𝟑)𝟒 − (𝟕𝒙 − 𝟏)𝟐 +
𝟐

(𝟑𝒙−𝟏)𝟑 +
𝟒

(𝟑𝒙−𝟐)𝟑 . Find 
𝒅𝒚

𝒅𝒙
  

 

 

 

 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 7 

Time : 30 min. 
Total Marks : 52 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 11 
Subjective Questions ('–1' negative marking) Q. 12 to Q. 13 

 

Q 1) If velocity of particle is given by 𝒗 = 𝟐𝒕𝟒 then its acceleration (dv/dt) at any time t will be given by :  

 A) 𝟖𝒕𝟑   B) 𝟖𝒕   
 C) −𝟖𝒕𝟑  D) 𝒕𝟐    
Q 2) lf 𝒚 = 𝐬𝐢𝐧 𝒙 & 𝒙 = 𝟑𝒕 then (dy/dt) willbe-  
 A) 𝟑𝒄𝒐𝒔 (𝒙)  B) 𝟑𝒄𝒐𝒔 (𝟑𝒕)     
 C) 𝒄𝒐𝒔 (𝒙)  D) −𝒄𝒐𝒔 𝒙    
Q 3) lf 𝜶 = 𝐬𝐞𝐜(𝟑𝜷) then 

𝒅𝜶

𝒅𝜷
 will be -  

 A) 𝟑 𝐬𝐞𝐜 (𝟑𝜷) 𝐭𝐚𝐧 (𝟑𝜷)  B) 𝟑𝜶𝟐𝐬𝐢𝐧 (𝟑𝜷)   
 C) 𝐬𝐞𝐜 (𝟑𝜷) 𝐭𝐚𝐧 (𝟑𝜷)  D) 𝟑 𝐬𝐞𝐜𝟐(𝟑𝜷)   
Q 4) The derivative of 𝒇(𝒙) =  𝒙𝟑  +  𝟑𝒙 𝒍𝒏 𝒙 +  𝟓 with respect to 𝒙 is  

 A) 𝟑𝒙𝟐 + 𝟑𝐱  B) 𝟑𝒙𝟐  +  𝟑 𝒍𝒏 𝒙 +  𝟓   
 C) 𝟑𝒙𝟐  +  𝟑 𝒍𝒏 𝒙 +  𝟑  D) 𝟑𝒙𝟐 𝟑 𝒍𝒏 𝒙 +  𝟖   
Q 5) If 𝒇(𝒙) = 𝒙𝟑𝒍𝒏 (𝒙) then 𝒇′(𝒙) is :  

 A) 𝒙𝟐 + 𝟑𝒙𝟐𝒍𝒏 (𝒙)  B) 𝒙𝟐(𝟏 + 𝒍𝒏 𝒙)   
 C) 𝟒𝒙𝟐  D) None of these  
Q 6) Differentiation of 𝒔𝒊𝒏(𝒙𝟐) w.r.t. x is-  

 A) 𝒄𝒐𝒔(𝒙𝟐)  B) 𝟐𝒙 𝒄𝒐𝒔(𝒙𝟐)   
 C) 𝒙𝟐𝒄𝒐𝒔(𝒙𝟐)  D) −𝒄𝒐𝒔(𝟐𝒙)   
Q 7) If 𝒚 = 𝒆𝒌𝒕 then 

𝒅𝒚

𝒅𝒙
 will be  

 A) 𝒆𝒌𝒕  B) 𝒆𝒌𝒕/𝒌   
 C) 𝒕𝒆𝒌𝒕  D) 𝒌𝒆𝒌𝒕    
Q 8) 𝒚 = 𝒔𝒊𝒏𝟑𝒙  

𝒅𝒚

𝒅𝒙
 will be   

 A) 𝟑𝒔𝒊𝒏𝟐(𝒙)𝒄𝒐𝒔(𝒙)  B) 𝟑𝒔𝒊𝒏(𝒙)𝒄𝒐𝒔(𝒙)   
 C) 𝟑𝒔𝒊𝒏𝟐(𝒙)   D) 𝒄𝒐𝒔𝟑(𝒙)   
Q 9) The displacement of a body at any time t after starting is given by 𝒔 = 𝟏𝟓𝒕 − 𝟎. 𝟒𝒕𝟐 The velocity of the 

willbe 7 ms-1 aftertime: 

 

 A) 20 sec B) 15 sec C) 10 sec D) 5 sec  
 If 𝑺 = 𝒖𝒕 +

𝟏

𝟐
𝒂𝒕𝟐 

S=displacement, u= intial velocity(constant), v=final velocity, a=acceleration(constant) 

 

Q 10) Differentiation of ‘S’ w.r.t. ‘t’ will be-  
 (i) 

𝒖 +
𝒂𝒕

𝟐
 

(ii) 𝒖 + 𝒂𝒕 (iii) 𝒖 + 𝟐𝒂𝒕 (iv) 𝒖𝒕𝟐

𝟐
+

𝒂𝒕𝟑

𝟔
 

 

Q 11) Differentiation of  above result w.r.t. ‘t’ will be-  
 A) 𝒂  B) 𝒖 + 𝒂  C) 𝒖  D) 𝒏𝒐𝒏𝒆   
Q 12) 𝒚 = (𝟐𝒙 + 𝟑)𝟒 − (𝟕𝒙 − 𝟏)𝟐 +

𝟐

(𝟑𝒙−𝟏)𝟑 +
𝟒

(𝟑𝒙−𝟐)𝟑 Find 
𝒅𝒚

𝒅𝒙
  

Q 13) Find 
𝒅𝒚

𝒅𝒙
 of the following : 𝒚 = 𝒔𝒊𝒏 𝒙𝟑  

   
 

 

 

 



 

 

DPP 
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Physics 

Topic : Mathematical Tools  
DPP NO. 8 

Time : 30 min. 
Total Marks : 56 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 10 
Subjective Questions ('–1' negative marking) Q. 11 to Q. 14 

 

Q 1) ∫ [(𝒙)𝟏 𝟑⁄ −
𝟏

(𝒙)𝟏 𝟑⁄ ] 𝒅𝒙 is equal to :  

 A) 𝒙𝟒 𝟑⁄ − 𝒙𝟐 𝟑⁄ + 𝒄  B) 𝟒

𝟑
𝒙𝟐 𝟑⁄ −

𝟐

𝟑
𝒙𝟐 𝟑⁄ + 𝒄   

 C) 𝟑

𝟒
𝒙𝟒 𝟑⁄ −

𝟐

𝟑
𝒙𝟏 𝟑⁄ + 𝒄  D) 𝟑

𝟒
𝒙𝟒 𝟑⁄ −

𝟑

𝟐
𝒙𝟐 𝟑⁄ + 𝒄   

Q 2) ∫ 𝒙𝟑 𝒅𝒙 can be equal to :  

 A) 𝟑𝒙𝟐  B) 𝒙𝟒

𝟒
+ 𝒄   

 C) 𝒙𝟒

𝟒
− 𝟑  D) 𝟒𝒙𝟑   

Q 3) ∫ 𝒙𝟐 is be equal to :  

 A) 𝒙𝟑

𝟑
+ 𝒄   B) 𝟐𝒙𝟑

𝟑
   

 C) 𝟐𝒙  D) 𝑴𝒆𝒂𝒏𝒊𝒏𝒈𝒍𝒆𝒔𝒔   
Q 4) ∫ 𝒄𝒐𝒔 𝟑𝒕 𝒅𝒕

𝝅/𝟐

𝟎
   is  

 A) 𝟐

𝟑
  B) −

𝟏

𝟑
   

 C) −
𝟐

𝟑
  D) 𝟏

𝟑
   

Q 5) ∫ 𝒙𝟓𝟏

−𝟏
𝒅𝒙   

 A) 𝟎  B) 𝟏

𝟑
   

 C) 𝟏

𝟔
   D) 2  

Q 6) ∫ 𝟐 𝒔𝒊𝒏 𝒙 𝒅𝒙  is equal to   
 A) −𝟐 𝒄𝒐𝒔 𝒙 + 𝑪  B) 𝟐 𝒄𝒐𝒔 𝒙 + 𝑪   
 C) −𝟐 𝒄𝒐𝒔 𝒙  D) 𝟐 𝒄𝒐𝒔 𝒙   
Q 7) 𝒊𝒇 𝒚 = 𝒙𝟐𝒔𝒊𝒏 𝒙𝟑 𝒕𝒉𝒆𝒏 ∫ 𝒚 𝒅𝒙    𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) − 𝒄𝒐𝒔 𝒙𝟑 + 𝑪  B) −
𝒄𝒐𝒔 𝒙𝟑

𝟑
+ 𝑪   

 C) 𝒄𝒐𝒔 𝒙𝟑 + 𝑪  D) 𝒄𝒐𝒔 𝒙𝟑

𝟑
+ 𝑪   

Q 8) 𝑻𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 ∫ 𝒔𝒊𝒏𝟐𝒙
𝝅/𝟐

𝟎
𝒅𝒙  𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) 𝟏  B) 𝟎   
 C) 𝝅

𝟒
  D) 𝝅

𝟐
   

Q 9) 𝑻𝒉𝒆 𝒂𝒓𝒆𝒂 𝒐𝒇 𝒓𝒆𝒈𝒊𝒐𝒏 𝒃𝒆𝒕𝒘𝒆𝒆𝒏 𝒚 =  𝒔𝒊𝒏𝒙 𝒂𝒏𝒅 𝒙 − 𝒂𝒙𝒊𝒔 𝒊𝒏 𝒕𝒉𝒆 𝒊𝒏𝒕𝒆𝒓𝒗𝒂𝒍  [𝟎,
𝝅

𝟐
]   𝒘𝒊𝒍𝒍 𝒃𝒆 ∶   

 A) 1 B) 0 C) 2 D) -1  
Q 10) ∫(𝒙𝟐 + 𝒔𝒊𝒏 𝒙)𝒅𝒙 =   

 A) 𝟑𝒙 + 𝒄𝒐𝒔 𝒙 + 𝑪  B) 𝒙𝟑

𝟑
− 𝒄𝒐𝒔 𝒙 + 𝑪   

C) 𝒙𝟑

𝟑
+ 𝒄𝒐𝒔 𝒙 + 𝑪  D) 𝟑𝒙 − 𝒄𝒐𝒔 𝒙 + 𝑪  

Q 11) Solve the following integrals : 

∫
𝒄𝒐𝒔𝟑𝜽

𝟏−𝒔𝒊𝒏 𝜽
𝒅𝜽  

 

   
Q 12) Integrate the following : 

∫(𝟐𝒕 − 𝟒)−𝟒𝒅𝒕 =  

 

Q 13) ∫
𝒙−𝟏

𝒙𝟐−𝟏
𝒅𝒙

𝟏

𝟎
   

Q 14) ∫(𝒙 + 𝟏)𝒅𝒚  𝒊𝒇  𝒚 = 𝟔𝒙𝟐   
 



 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 9 

Time : 30 min. 
Total Marks : 64 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 8 
Subjective Questions ('–1' negative marking) Q. 9 to Q. 16 

 

Q 1) ∫(𝒙𝟐 + 𝒔𝒊𝒏 𝒙)𝒅𝒙 =   
 A) 𝟑𝒙 + 𝒄𝒐𝒔 𝒙 + 𝑪  B) 𝒙𝟑

𝟑
− 𝒄𝒐𝒔 𝒙 + 𝑪   

 C) 𝒙𝟑

𝟑
+ 𝒄𝒐𝒔 𝒙 + 𝑪  D) 𝟑𝒙 − 𝒄𝒐𝒔 𝒙 + 𝑪   

Q 2) Find area under the curve 𝒚 =  𝟓𝒆𝒙 and the x=2 :  
 A) 𝟓𝒆𝟐  B) 𝟓(𝒆𝟐 − 𝟏)   
 C) 𝒆𝟐 − 𝟏  D) 𝒆𝟐−𝟏

𝟓
   

Q 3) Integrate 𝒙𝟐 − 𝒄𝒐𝒔 𝒙 +
𝟏

𝒙
 𝒘. 𝒓. 𝒕. 𝒙 .  

 A) 𝒙𝟐

𝟐
+ 𝒔𝒊𝒏 𝒙 + 𝐥𝐨𝐠𝒆 𝒙 + 𝒄   B) 𝒙𝟑

𝟑
− 𝒄𝒐𝒔 𝒙 + 𝐥𝐨𝐠𝒆 𝒙 + 𝒄    

 C) 𝒙𝟑

𝟑
− 𝒔𝒊𝒏 𝒙 + 𝐥𝐨𝐠𝒆 𝒙 + 𝒄   D) 𝒙𝟐

𝟐
+ 𝒄𝒐𝒔 𝒙 + 𝐥𝐨𝐠𝒆 𝒙 + 𝒄    

Q 4) 𝑬𝒗𝒂𝒍𝒖𝒂𝒕𝒆 ∫
𝟏

𝒙𝟒

∞

𝟏
𝒅𝒙   

 A) 𝟏

𝟑
  B) 𝟐   

 C) 𝟑  D) 𝟏

𝟐
   

Q 5) 𝑬𝒗𝒂𝒍𝒖𝒂𝒕𝒆 ∫
𝟏

√𝒙−𝟏
𝒅𝒙.  

 A) 𝟑√𝒙 − 𝟏 + 𝒄  B) 𝟐√𝒙 − 𝟏 + 𝒄   

 C) 𝟐

√𝒙−𝟏
+ 𝒄  D) 𝟑

√𝒙−𝟏
+ 𝒄   

Q 6) Integrate √𝒙
𝟓

  𝒘. 𝒓. 𝒕. 𝒙.  

 A) 𝟓

𝟔
𝒙𝟔 𝟓⁄ + 𝒄  B) 𝟏

𝟓
𝒙𝟏 𝟓⁄ + 𝒄   

 C) 𝟏

𝟔
𝒙𝟔 𝟓⁄ + 𝒄  D) 𝟏

𝟓
𝒙𝟔 𝟓⁄ + 𝒄   

Q 7) Integrate √𝒙 −
𝟏

√𝒙
  𝒘. 𝒓. 𝒕. 𝒙 .  

 A) 𝟐

𝟓
𝒙𝟓 𝟐⁄ − 𝟐𝒙𝟏 𝟐⁄ + 𝒄  B) 𝟐

𝟕
𝒙𝟓 𝟐⁄ + 𝟐𝒙𝟑 𝟐⁄ + 𝒄   

 C) 𝟐

𝟑
𝒙𝟑 𝟐⁄ − 𝟐𝒙𝟏 𝟐⁄ + 𝒄  D) 𝟐

𝟑
𝒙𝟑 𝟐⁄ + 𝟐𝒙𝟏 𝟐⁄ + 𝒄   

Q 8) Evaluate the following  ∫ 𝒔𝒊𝒏 𝒙 𝒄𝒐𝒔 𝒙
𝝅 𝟐⁄

𝟎
 𝒅𝒙  

 A) 𝟏

𝟐
  B) 𝟏

𝟑
    

 C) 𝟏

√𝟐
  D) 𝟏

𝟒
   

Q 9) Evaluate ∫
𝟏

𝒙
𝒅𝒙

𝟒

𝟑
 .  

   
Q 10) Evaluate ∫

𝟏

𝟏+𝒚
𝒅𝒚

𝟐

𝟏
.  

   
Q 11) Evaluate ∫ 𝒎𝒗 𝒅𝒗

𝒗

𝒖
  

   
Q 12) Evaluate ∫ 𝒙 𝒄𝒐𝒔𝒙 𝒅𝒙.  
   
Q 13) Evaluate ∫ 𝒄𝒐𝒔 𝒙𝒅𝒙

+𝝅 𝟐⁄

−𝝅 𝟐⁄
  

   
Q 14) Evaluate ∫ 𝒄𝒐𝒔𝟐𝒙 𝒅𝒙

𝝅 𝟐⁄

𝟎
 .  

   
Q 15) Evaluate ∫ 𝒔𝒊𝒏 𝟐𝒙𝒅𝒙

+𝝅 𝟐⁄

−𝝅 𝟐⁄
  

   
Q 16) Evaluate ∫ 𝒄𝒐𝒔 𝟐𝒙𝒅𝒙

+𝝅 𝟒⁄

−𝝅 𝟒⁄
  

 



 

 

DPP 
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Topic : Mathematical Tools  
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Time : 30 min. 
Total Marks : 56 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 8 
Subjective Questions ('–1' negative marking) Q. 9 to Q. 14 

 

Q 1) If 𝒙 = 𝒂(𝟏 + 𝒔𝒊𝒏 𝜽)𝒂𝒏𝒅 𝒚 = 𝒂(𝟏 − 𝒄𝒐𝒔 𝜽).  Find 
𝒅𝒚

𝒅𝒙
  

 A) 𝒕𝒂𝒏 𝜽  B) 𝒕𝒂𝒏 𝟐𝜽   
 C) 𝒕𝒂𝒏 

𝜽

𝟐
  D) 𝒔𝒊𝒏 𝜽   

Q 2) Differentiate the 𝒔𝒊𝒏 𝒙𝟑  𝒘. 𝒓. 𝒕. 𝒙 .  

 A) 𝟑𝒙 𝒄𝒐𝒔 𝒙𝟐  B) 𝟑𝒙𝟐 𝒄𝒐𝒔 𝒙𝟑   
 C) 𝟐𝒙 𝒄𝒐𝒔 𝒙𝟐  D) 𝟑𝒙𝟐 𝒔𝒊𝒏 𝒙𝟑   
Q 3) Differentiate the 𝒆−𝒙𝒄𝒐𝒔 𝒙  𝒘. 𝒓. 𝒕. 𝒙 .  
 A) 𝒆𝒙(𝒄𝒐𝒔𝒙 + 𝒔𝒊𝒏 𝒙)  B) −𝒆−𝒙(𝒄𝒐𝒔𝒙 + 𝒔𝒊𝒏 𝒙)   
 C) −𝒆𝒙(𝒄𝒐𝒔𝒙 + 𝒔𝒊𝒏 𝒙)  D) 𝒆𝒙(𝒄𝒐𝒔𝒙 − 𝒔𝒊𝒏 𝒙)   
Q 4) Differentiate the  𝒆𝟑 𝒘. 𝒓. 𝒕. 𝒙 .  

 A) 3𝒆𝟐 B) 𝟑𝒆𝟑   

 C) 𝟐𝒆𝟑  D) zero  
Q 5) The area in m2 of a blot of ink is growing such that after t second, its area is given by 𝑨 = 𝟐𝒕𝟐 +

𝒕

𝟑
+ 𝟓. 

Determine the rate of increase of area at t=10 second. 

 

 A) 20 m2 s-1 B) 30.5 m2 s-1  
 C) 40.3 m2 s-1 D) 25.4 m2 s-1  
Q 6) A metal ring is being heated such that its area in m2 at any time t second is given by  𝑨 = 𝟑𝒕𝟐 + 𝝅. 

Determine the rate of increase of area at t=5 second. 

 

 A) 10 m2 s-1 B) 20 m2 s-1  
 C) 30 m2 s-1 D) 40 m2 s-1  
Q 7) A particle starts rotating from rest. According to the equation : 𝜽 =

𝒕𝟒

𝟔𝟎
−

𝒕

𝟒
+ 𝟕 𝒘𝒉𝒆𝒓𝒆 𝜽 𝒊𝒔 𝒊𝒏 𝒓𝒂𝒅𝒊𝒂𝒏 and 

t is in second. Calculate the angular velocity of the particle after 10 second. 

 

 A) 𝟔𝟐. 𝟔  𝒓𝒂𝒅 𝒔−𝟏  B) 𝟔𝟔. 𝟒  𝒓𝒂𝒅 𝒔−𝟏   
 C) 𝟔𝟒. 𝟔  𝒓𝒂𝒅 𝒔−𝟏  D) 𝟔𝟎. 𝟔  𝒓𝒂𝒅 𝒔−𝟏   
Q 8) Integrate  ∫ 𝒔𝒆𝒄𝟐𝒙 𝒅𝒙  .

𝝅 𝟒⁄

𝟎
  

 A) 2 B) 1  
 C) ∞  D) zero  
Q 9) The area of the circle of radius r is 𝝅𝒓𝟐. Prove that the rate of increase of area w.r.t. radius is equal to the 

circumference of the circle. 

 

   
Q 10) Evaluate ∫

𝑮𝑴𝒆𝒎 𝒅𝒙

𝒙𝟐

𝑹

∞
 .  

          
Q 11) Evaluate ∫ 𝒔𝒊𝒏 𝟑𝒙 𝒅𝒙 .

𝝅 𝟔⁄

𝟎
  

          
Q 12) Evaluate ∫ 𝒔𝒊𝒏 𝟐𝒙 𝒅𝒙 .

+𝝅 𝟐⁄

−𝝅 𝟐⁄
  

   
Q 13) Evaluate ∫ 𝒔𝒊𝒏 𝜽 𝒅𝜽 .

𝝅 𝟐⁄

𝟎
  

   
Q 14) Integrate √𝒙 𝒘. 𝒓. 𝒕. 𝒙 between the limits 4 and 9 .  

 


